= o
A 2 0l & A &2 & Al A
20219 = =0l & LB SXE M
SN =2XEYY
E: =SUMH 25
Sl XISAS =X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SX &M 31,160,366 30,839, 846 320,520
= 16,256,351
J| 7,000
Al 11,978,491
T Hl 2,918,524
SNEH L3t 7,682,300 8,017,027 N334,727
= 1,601,080
Al 5,161,371
-4l 919,849
A SXHE 6,193,300 5,515,287 678,013
= 479,180
Al 4,965,321
-l 748,799
AglEX2 29 3,378,900 3,287,178 91,722
Al 3,077,500
I 301,400
307 21201 A 3,378,900 3,287,178 91,722
Al 3,077,500
I 301,400
05 RIZt2IEt = 3,378,900 3,287,178 91,722
OAMI =X 24 X2 3,368,300,000& 3,368,300
AlHI 3,077,500
T Hl 290,800
OF&s=sla g Bx 3,600,000& 3,600
OZFUUOIHE RE2=2AY &
7,000,000& 7,000
NAASISEAE =8 L HIt 14,000 2,000 12,000
201 L2l 2,000 2,000 0
01 At 22l 2,000 2,000 0
Odg NSMAE2EHE =8 £ Bt EE
3 2,000,000& 2,000
308 XXM SO A 12,000 0 12,000
M3 2S0HetE & XA E A I 12,000 0 12,000
OXNSG A EF XA 12,000, 000& 12,000
NEAMSIEEEANM MRS 29 60,000 18,000 42,000
Al 42,000
Tl 18,000
307 21201 A 60,000 18,000 42,000
Al 42,000
I 18,000
02 ItFAAHE X 3,000 0 3,000
OXNGASEZEAN SstAt =2
3,000,000& 3,000
Al 2,100
-l 900




2N
X ZH -
L= B

el

Off &t 24

=

i
2

36,000,000&

S 21,000,000&

AlBI
Tl

AlHI
T Hl

57,000

36,000
25,200
10,800
21,000

14,700
6,300

pa]
19
>
ton
H
024
]
10

16,000

N
2
ne
s
M0
02

16,000

(e)
>
e
[wt]
T T

O
on -0
=

12

A&
16,000,000

16,000

16,000

H
i)
kﬂ'
1]
Ho

02

44,500

30,000

N
2
ne
L
Mo
02
=

9,500

5,000

o
o
O O W
02
=

A0

Ao
fon
el
B o
]3]
0]
oy

HL HD OH

o
ton
1]
0
>
X

8,000,000
1,500,000&

9,500
8,000
1,500

A5,000

35,000

35,000

35,000,000&

35,000
35,000

35,000

124,100

124,100

124,100

124,100

76,600,000

47,500,000&

76,600
76,600
47,500
47,500

76,600

47,500

>

13,700

A 119,100

13,700

A 119,100

2,500,000

1691 = 700,000

13,700
13,700
2,500

11,200

A 84,400

AlBI
T8l

1,445,000

1,428,000
17,000

Al'Hl
T8l

1,445,000
1,428,000
17,000

1,445,000




SN SXYBD

g =NEM 23
ol KEAIS =X (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OFEK2X o= 1,428,000,000& 1,428,000
Al HI 1,428,000
ORI AILRZ2 17,000,000& 17,000
SER2A4 N3 10,000 9,000 1,000
301 dBtEX = 10,000 9,000 1,000
01 MIIEEE G2 10,000 9,000 1,000
OSSR RF 242 50¥*100,000& 23] 10,000
=2I)t23 X X3 104,400 104,400 0]
Al H] 104,400
301 et M= 104,400 104,400 0
Al H] 104,400
01 MBI BEEAELG2 104,400 104,400 0
OZINR2AN BEE2HWSE 104,400, 000& 104,400
Al HI 104,400
SHHNESAHEH AMIEL2LIA SAH| 24,122 24,122 0
Al Hl 11,450
| 12,672
301 dEtE X = 24,122 24,122 0
Al HI 11,450
2| 12,672
0B A ERIBAZ 24,122 24,122 0
OSHEEXHE AISIE2RR SAlH|
24,122 ,000& 24,122
Al HI 11,450
24| 12,672
ASIZEXAIE A EL22F SAH| 34,056 34,056 0
Al H] 14,256
2| 19,800
301 LEtE M= 34,056 34,056 0
Al HI 14,256
2| 19,800
0B MBI =ERLIEA= 34,056 34,056 0
OAZSXAE AIS=ERA SAHI
34,056,000 34,056
Al HI 14,256
2| 19,800
AMISE2HE XA 226,900 228,000 A 1,100
= 226,900
301 et ™M= 226,900 228,000 A 1,100
= 226,900
0B MBI =ERLIEBAS 226,900 228,000 A 1,100
OAMA=ERHE XA 226,900
salEd 2 WEdl, IS4l 226,900, 000& 226,900
= 226,900




2N

il (=]
E: =SUMH 25
Sl ROAE =XHE

SA - BB B () - MM - BES Ol &t o San HmEET
HASE st WEHl XA 16,193 16,193 0
AlHI 16,193
101 @14 Hl 15,137 16,193 A 1,056
Al 15,137
04 JIZHHZ2XNHEE S 15,137 16,193 A 1,056
ONALAEESSMUSH X E A (Q124H])
15,137,000& 15,137
AlHI 15,137
201 £B-2dH| 1,056 0 1,056
AlH 1,056
01 At 22/l 1,056 0 1,056
OMASESMDIYI XA (L2 HH)
1,056,000 1,056
AlHI 1,056
DELH9 23 XotAel X Me X &l 316,400 0 316,400
= 158,200
Al 105,362
Tl 52,838
301 LA F 316,400 0 316,400
= 158,200
Al HI 105,362
4l 52,838
01 MI28E +06l= 316,400 0 316,400
OZZ2LHY9 & XotAel it ME X 2|
316,400,000 316,400
=2 158,200
AlHI 105,362
T Hl 52,838
SN 2N A 43,029 44,638 A 1,609
201 2et24d] 16,560 16,780 A 220
01 At 2teltl 16,200 16,420 A 220
OX<G A 2EHE I MZ 10,0002 1002 1,000
OAMotREXESY HetEM S M
20,0003 300K *90% 540
OXNGASEREAM |ASE HE
13,000& 80 1,040
OX - 2Egsy 243 23
1,620,000 1,620
Osed=R &3l 12,000, 000& 12,000
02 23=2gHl 360 360 0
OMl ==Xkt SEZEEAIAE ST 2
& 30,000& 12 360
203 YR =2l 23,301 24,690 A 1,389
03 Al =AY R4 23,301 24,690 A1,389
OFgU=EX= g4 3,000,000 *90% 2,700

_4_




SN SXYBD

g %XI’S; st
Sl XISAS =X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEEEF RN TESS
7,000, 000& %33 *90% 18,900
OAMsl=X gR2=2 1,170,000& *90% 1,053
OY2aEgMHIA 2AHT 2HE S
720,000 *x90% 648
301 LA S 3,168 3,168 0
0B A SERQREELS 3,168 3,168 0
OSXNEHY AMISRR S4AH
6,000 «2H x222 <123 3,168
SN 2= & o 5,000 5,000 0
201 Let24E] 5,000 5,000 0
01 At 22l 5,000 5,000 0
O=XAZANN €= 2H S223 M € 2
2l 5,000,000& 5,000
gragsE MAR=S 146,000 0 146,000
AlHI 146,000
307 glz2tol & 146,000 0 146,000
AlHI 146,000
11T M SXAISE EX 146,000 0 146,000
Oy Atell2el Arg 146,000, 000 146,000
Al 146,000
NHEER 23t 6,300 0 6,300
201 L2l 6,300 0 6,300
03 &Ar2 Gl 6,300 0 6,300
O H0tit=e EXNAMEIA HtE /& /35 6,300
SEHE F0It= BASXNAMEIA AHBI(S Atell2tel 134,400 134,400 0
At X&)
= 94,080
AlHI 20,160
1 Hl 20,160
201 Let24E] 67,200 46,900 20,300
= 47,040
AlHI 10,080
T Hl 10,080
01 At 22l 67,200 46,900 20,300
OSH¥E H0tite EH=EXMHIA AL HI(S
SEAMAIZ2AE 2gHI) 67,200,000& 67,200
= 47,040
Al 10,080
I 10,080
301 LEXZ 67,200 87,500 A 20,300
= 47,040
AlHI 10,080
L Hl 10,080




2AM: SXEH
I 2R A
(=R B -/ o T

st
Sl XISAS =X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MI2EZE+06l= 67,200 87,500 A20,300
OSY¥E H0tits EH=EXMHIA AHHHI(S
SE At 22l ArY A X XI2dl) 67,200
67,200,000
2 47,040
Al 10,080
I 10,080
MISXAIE MII=XAE HRMA 30,300 0 30,300
301 LA S 30,300 0 30,300
12 JIEE4 3 30,300 0 30,300
OMEISXIAE ASISXAF HRHLH K&
30,300, 000& 30,300
N Ate LhsF=a 1,489,000 2,501,740 A 1,012,740
= 1,121,900
AlHI 196,050
L Hl 171,050
- SEAtdl2el XA 15,000 15,000 0
= 7,500
AlHI 3,750
T Hl 3,750
201 Let24E] 7,500 7,500 0
= 3,750
AlHI 1,875
T Hl 1,875
01 At 2t 2l 7,500 7,500 0
OF sgAtdiztel X (Al Zelame 22()
7,500,000& 7,500
= 3,750
AlHI 1,875
I 1,875
301 LEEXZ 7,500 7,500 0
= 3,750
AlHI 1,875
T Hl 1,875
01 MEIBZE 05z 7,500 7,500 0
OF SeAtdizel XIS (Atdl2telAbS O akxt
X&) 7,500,000& 7,500
= 3,750
AlHI 1,875
1 Hl 1,875
2 SXXA 1,393,000 1,393,000 0
= 1,114,400
AlHI 139,300
T Hl 139,300
301 LEAZ 1,393,000 1,393,000 0
= 1,114,400
AlHI 139,300




2N

X{ XH -
S =

EPARSE )

SANEH 23

Sl KSAS LSS (B9 ®R)
SA - BB B () - MM - BES Ol &t o San HmEET

-t 139,300

01 MEIBZE 06z 1,393,000 1,393,000 0
O2g =XNXE 1,393,000, 000& 1,393,000
= 1,114,400
Al 139,300
- Hl 139,300

=&Y 29 31,000 31,000 0
Al Hl 3,000
I 28,000

307 21201 A 31,000 31,000 0
Al HI 3,000
I 28,000

11T MISXASEEX 31,000 31,000 0
OJI=ZE%3 29 X 31,000,000& 31,000
AlHI 3,000
T Hl 28,000

JI=FE0 24 50,000 50,000 0
AlHI 50,000

307 glz2tol & 50,000 50,000 0
AlHI 50,000

05 BIZERIE 3 50,000 50,000 0
OJI=ZE0t2 299 50,000,000& 50,000
AlHl 50,000

Ots =R & 21,582,829 21,251,381 331,448
= 13,906,278
AlHI 6,388,524
L Hl 1,288,027

otsE2s 21,582,829 21,251,381 331,448
= 13,906,278
AlHI 6,388,524
4l 1,288,027

FOUHE OISSBAHIA X2 201,010 182,000 19,010
= 160,808
AlHI 20,101
T Hl 20,101

201 L2l 135,010 109,000 26,010
= 108,008
AlHI 13,501
T Hl 13,501

01 At 2t 2l 131,010 105,000 26,010
OEgARE Z20# 2 2% 131,010,000 131,010
= 104,808
Al 13,101
T Hl 13,101

02 =24l 4,000 4,000 0
Os3e= 4,000,000& 4,000

_7_




2AH: SRS
M OlS=X A
@2 OIsE s (SHe &)
SA - BB B () - MM - BES Ol &t o San HmEET
= 3,200
AlHI 400
T Hl 400
202 O4dl 10,000 16,000 26,000
= 8,000
AlHI 1,000
- Hl 1,000
01 = LH 4 1l 10,000 16,000 26,000
OCHAEE HJASE 10,000, 000& 10,000
= 8,000
Al 1,000
I 1,000
203 YR =2t 2,000 2,000 0
= 1,600
AlHI 200
I 200
03 Al =AY R =&Y 2,000 2,000 0
OEHAERE H2F4 2,000,000& 2,000
= 1,600
AlHI 200
T Hl 200
301 LEHZ 2,000 3,000 21,000
= 1,600
AlHI 200
- Hl 200
12 JIEBHE4 S 2,000 2,000 0
OUAEE AL EEI7 B4 2,000,000& 2,000
= 1,600
Al HI 200
4l 200
307 21201 A 52,000 52,000 0
= 41,600
Al HI 5,200
I 5,200
11T MISRAISEX 52,000 52,000 0
O=dJ2=2]d8 23 XA 52,000,000& 52,000
= 41,600
AlHI 5,200
T Hl 5,200
OtssS XN WA ItA XA 225,450 220,634 4,816
= 111,000
AlHI 111,000
T Hl 3,450
101 @14 dl 225,450 220,634 4,816
= 111,000
Al 111,000
- Hl 3,450




SM: =2XNEHY
=RV (-

e OISES (&2 &H)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 225,450 220,634 4,816
OO0tS S XAt 21 HHl S 222,000,000& 222,000
= 111,000
Al 111,000
OOts= R WAL A2 Z & Hl 30,000 »26H 780
OXNSAZ SR AHTHM I ™) HLRMLH S 2,670
HEF Il 300,000& =13l 300
CREE SNEQUE 300,000& =12 300
A THHI 130,000& 9 1,170
04 bl 100,000 92 900
ANeotsdH 22H XA 1,166,880 1,036,200 130,680
= 583,440
AlHI 583,440
307 glz2tol & 1,166,880 1,036,200 130,680
= 583,440
AlHI 583,440
10 AL SXAIEEE2EH EX 1,166,880 1,036,200 130,680
OXgotsdyd 24 N&  1,166,880,000& 1,166,880
= 583,440
Al 583,440
S=8d Nd0otsdH A& 58,464 58,464 0
= 29,232
Al 29,232
307 21201 A 58,464 58,464 0
= 29,232
Al 29,232
10 ALSISXAIEEE2IHEX 58,464 58,464 0
OEx==8d XNA0tsdH X& 58,464,000& 58,464
= 29,232
AlHI 29,232
E22% XNAOISHE It X 18,240 25,536 AT7,296
2 9,120
AlHI 9,120
307 gl2tol & 18,240 25,536 AT,296
= 9,120
Al 9,120
10 AL SXNAIEEE2EH EX 18,240 25,536 NT,296
OXYotsdEH EQ29 = XA
18,240,000& 18,240
= 9,120
AlHI 9,120
SLXAOISHE X2 39,656 39,656 0
= 19,828
AlH 19,828
307 21201 A 39,656 39,656 0




2N

HE: OlS=X B4
@2 OIsE s (SHe &)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 19,628
AlHI 19,828
OMBETANLEHE2IHES 39,656 39,656 0
Of=XNd90tsdH X2 39,656,000 39,656
= 19,828
Al 19,828
Ot g XHotsHlH X 25,200 7,800 17,400
Al Hl 25,200
307 21201 A 25,200 7,800 17,400
Al HI 25,200
MIISXANEHE2IHEER 25,200 7,800 17,400
Ot g otsdE X 25,200,000& 25,200
AlHI 25,200
NGotsdE SAX MSHA X 124,700 110,400 14,300
AlHI 101,300
T Hl 23,400
307 gl2tol & 124,700 110,400 14,300
AlHI 101,300
T Hl 23,400
10 AL SXAIEEE 2 H EX 101,300 87,000 14,300
OXNYGOotsSHdEHBALA MRMH X
97,000,000& 97,000
AlHI 97,000
OXY0tsSHdEHEAL SRNEAE X
4,300,000 4,300
AlHI 4,300
11T M SXAIS EX 23,400 23,400 0
OXSOotsSEHEHSALR =X 23,400,000& 23,400
AEotsde T2 X& 43,620 31,000 12,620
AlHI 43,620
307 2I2+0 & 43,620 31,000 12,620
AlHI 43,620
10 ALSISEXAIEEE2EHEX 43,620 31,000 12,620
OXNYotsHy T2 0d8d X&  43,620,000& 43,620
Al 43,620
ANEotsdye 3Ll XA 30,000 110,000 280,000
= 15,000
Al 7,500
I 7,500
307 21201 A 30,000 110,000 280,000
= 15,000
Al HI 7,500
I 7,500
10 M2 SXNANEHE2IHEX 30,000 110,000 80,000
OXYots4dE &ZIH&8l XI& 30,000,000 30,000




2AH: SRS
HE: OlS=X B4
@2 OIsE s (SHe &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 15,000
AlHI 7,500
T Hl 7,500
ANE0tsdy detehd XI& 5,919 5,104 815
AlHI 5,919
307 glz2tol & 5,919 5,104 815
AlHI 5,919
10 ALl SXAIEEE2EH EX 5,919 5,104 815
OXYotsd e Wietetdl XI& 5,919,000& 5,919
Al HI 5,919
ANotsdEe 21830 XA 16,080 16,080 0
= 8,040
AlHI 8,040
201 LBt 16,080 16,080 0
= 8,040
AlHI 8,040
01 At 22l 16,080 16,080 0
OXdotsdE SIEEI gz N&
16,080, 000& 16,080
= 8,040
Al HI 8,040
ANEotsdlEH S4AMIINE 24 A& 5,472 5,607 A 135
AlHI 5,472
307 glz2+ol & 5,472 5,607 A 135
AlHI 5,472
10 ALSISXAIEEE 2 HEX 5,472 5,607 A 135
OE&HMIIHE 22| 5,472,000 5,472
Al 5,472
CtetHssdE &Xd K& 140,000 138,394 1,606
= 90,000
Altl 50,000
402 RIZ2HXt20l ™ 140,000 138,394 1,606
= 90,000
AlHI 50,000
03 212t EFAL S HI 140,000 138,394 1,606
OUEMN == ArH (& XIHl) 140,000, 000& 140,000
= 90,000
AlHI 50,000
ChetH=ssdE 23H X 53,000 105,540 A52,540
= 9,000
AlH 9,000
- Hl 35,000
307 21240 53,000 105,540 A 52,540
2 9,000
AlH 9,000
T Hl 35,000




2N

MR 0BT B4
@2 OIsE s (SHe &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
05 RIZHRI & 3 53,000 105,540 A 52,540
OUEMN S5 HdE 2ZHl X2 (XHA)
35,000,000& 35,000
OUEN S5 dE 29H XN (EX)
18,000, 000& 18,000
= 9,000
AlHI 9,000
OGEeNssdEH 224 XI& 263,300 0 263,300
= 131,400
AlHI 131,900
307 gl2tol & 263,300 0 263,300
= 131,400
AlHI 131,900
10 AL SXAIEEE2EH EX 263,300 0 263,300
OCU&EN SsHH bl XI& 262,800,000 262,800
= 131,400
Al Hl 131,400
OUEH =SHH SAAL SXZAE XA
500,000& 500
Al Hl 500
0el0l=0l8H & OtsEAEAIE 22 3,000 3,000 0
401 A& HIZ 201 8] 3,000 3,000 0
01 A& HI 3,000 3,000 0
O02l0l=0lH & otsEAEAILE 22|
3,000,000& 3,000
Ots2stEAl =4 20,980 15,000 5,980
201 Zet24E] 18,080 13,000 5,080
01 At 22l 13,080 4,000 9,080
Oo0tsdel oldlns ¥ &sEZA B2 S
5,000, 000& 5,000
OOtSTBZAl FERAHS , OlsHCISE2A 2
g s 3,080,000& 3,080
OtsadII+* & 29 5,000,000& 5,000
02 232gHl 5,000 5,000 0
Oo0tszlstE Al =& XYFFE 23 A3l
5,000,000& 5,000
203 YR =] 900 0 900
03 Al =T YR =& 900 0 900
OOtsZsEA =22dE RAI|2 S5 R
1,000,000& *90% 900
301 LA S 2,000 2,000 0
09 HALAHIXI &3 2,000 2,000 0
OOs&ENHIIF 28 S FUHX Aldl, HASA
A AHl S 2,000,000& 2,000




2N

X{ XH -
S =

@2 OIsE s EEREED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

g4y - 2Es Olssa X 1,051,697 1,051,697 0
AlHI 788,773
T Hl 262,924

301 LEd = 1,051,697 1,051,697 0
Al 788,773
- Hl 262,924

01 Ml2ZHE 6= 1,051,697 1,051,697 0
OEY - &at= OtssSA K& 1,051,697,000& 1,051,697
Al HI 788,773
I 262,924

E-35Y ts=s4X& 285,986 285,986 0
AlHI 285,986

301 LEAZ 285,986 285,986 0
AlHI 285,986

01 MEIBZE 05z 285,986 285,986 0
OE - 32582 Ots=4 N& 285,986,000 285,986
Al 285,986

ots=% XI& 15,157,215 15,157,215 0
= 12,125,959
Al HI 2,121,879
Tl 909,377

301 LA F 15,157,215 15,157,215 0
= 12,125,959
AlHI 2,121,879
I 909,377

01 AR 2ZH 53 15,157,215 15,157,215 0
Oots=¢ K& 15,157,215,000& 15,157,215
= 12,125,959
AlHI 2,121,879
- Hl 909,377

Ots==2 A 29 4,091 4,091 0
= 2,864
AlHI 1,227

201 €24 4,091 4,091 0
= 2,864
AlHI 1,227

01 At 22l 4,091 4,091 0
O0ts+=2 MY 2dHl X& 4,091,000 4,091
2 2,864
Al HI 1,227

OlSLSAIS(0HOMA) MAH X 181,667 181,667 0
2 163,500
AlHI 18,167

301 LA S 181,667 181,667 0
= 163,500
AlHI 18,167




SM: =2XNEHY
=RV (-

el otEseEs

S HD B (SH) - NRAY - BAS O 4t o8 il
01 M BEEESG2 181,667 181,667
OOlS LS AIE(0HOHY) MAHHl X
181,667,000& 181,667
= 163,500
Al HI 18,167
OIS USAIE(HOIY) 29 & 1,393,063 1,393,063
Al H] 1,393,063
307 QI2t0| ™ 1,393,063 1,393,063
Al H] 1,393,063
10 AR SXAIEEE2IHIEX 1,393,063 1,393,063
O0lS LS AL (H0IY) 294 XL
1,393,063, 000& 1,393,063
Al H] 1,393,063
OFSUAFAIL(HOIY) AEEH X 46,900 46,900
Al H] 46,900
301 dEtEX = 46,900 46,900
Al H] 46,900
01 M BEEE2G2 46,900 46,900
OOlsSLSAAL(H0IY) AT ESSH AL XS
46,900, 000& 46,900
Al H] 46,900
OlSASAIE(HOIY) otd e L SHINH XS 2,965 2,965
Al HI 2,965
307 212t0| & 2,965 2,965
Al HI 2,965
10 AIRISEXAIEEHAE2IGHIEX 2,965 2,965
OIS ASAIZ(0HOIY ) HMEAIKLHH X
2,965,000& 2,965
Al H] 2,965
RES0Is ZSMEIIH(ol=ll) =24 82,443 82,443
= 32,977
Al HI 49,466
307 212t0| & 82,443 82,443
= 32,977
Al HI 49,466
10 AIRISEXAIEEHE2IHIEX 82,443 82,443
OZ2SMEIIH(otsM) 2494d|, 1HH X
82,443,000 82,443
= 32,977
AlH] 49,466
LESOE Z=SMEIIH(otsl) S X (SHOH I of 25,000 25,000
Ols MY Z2SMHEIIY 29X14)
Al H] 25,000
307 QI2t0| & 25,000 25,000
Al H] 25,000




SM: =2XNEHY
=RV (-

ol OtsE s (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
10 AL SXNAIEEE2EH EX 25,000 25,000 0
SSMEIA(Gt=) sUIisiors 8 2
SHEIIE 2GR (ASA o124Hl)
25,000,000& 25,000
Al 25,000
LESOIES SSHEINT(otsl) 2L (sS4 7,200 7,200 0
I BAR E2X2g XY¥)
AlHI 7,200
307 glz2tol & 7,200 7,200 0
AlHI 7,200
10 AL SXAIEEHE2EH EX 7,200 7,200 0
OSsdEINE(atsM) EMA SX=g K&
7,200,000& 7,200
AlHI 7,200
LESOls SSMEINE(otsM) 2L (ssng 400 400 0
I SAX SXEE X&)
AlHI 400
307 21201 A 400 400 0
AlHI 400
10 ALSISEXAIEEE2EHEX 400 400 0
OSsdEINH(StsM) BAMXN EXNEAE X
2 400,000& 400
Al Hl 400
QESOE SsMEIY(otsl) 29X (ss4E 900 900 0
oy erd el X&)
Al 900
307 2201 A 900 900 0
Al 900
10 AL SXNAIEEE2EHEX 900 900 0

SSMEIHE(otsM) dE22ld N

900,000 900
Al Bl 900

QESOIE DEMBINN(GHSH) SN (TS 7,640 7,640 0

Y 25018 XY)

At 7,640

307 21210 & 7,640 7,640 0
Al B 7,640

eV INEEE 7,640 7,640 0

OZSMEIH (=) 250tE X

7,640,000 7,640
Al bl 7,640

SIGHOIS 2E(22Y) 29 180,305 172,945 7,360
= 72,122
Al b 108,183

307 2I2+01 & 180,305 172,945 7,360
= 72,122




SM: =2XNEHY
=RV (-

e OlsEs (2 &HH)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al'H] 108,183
10 AR SEXAIEEE2IHIEX 180,305 172,945 7,360
Osfuloiols g (dsY) 249
180,305, 000& 180,305
= 72,122
Al HI 108,183
SfHUloiolsaEH(2sY) I X3 (AH]) 21,380 15,893 5,487
Al H] 21,380
307 QI2t0| ™ 21,380 15,893 5,487
Al H] 21,380
10 MM SAANEEHESIGHEX 14,800 9,563 5,237
OsfuloiolSa e (2sY) SAMAL EXEY
X & 14,300,000& 14,300
Al H] 14,300
OSHIIHOIS HE (LTY) BAK SXEAE
X & 500,000 500
Al H] 500
11 AMISAAEE X 6,580 6,330 250
OstiuliololsSaHE(2¢sY) Ol HESH At
AH A& 6,580,000& 6,580
Al HI 6,580
M8 /AE OIS =2 X 106,200 106,200 0
Al H] 106,200
301 et M= 106,200 106,200 0
Al H] 106,200
01 M BEEESG2 106,200 106,200 0
OJIEEs s I 106,200, 000& 106,200
Al Hl 106,200
IIE/AEOIs & UHetsE2 N 24,500 24,500 0]
Al H] 24,500
301 dEtE M= 24,500 24,500 0
Al HI 24,500
01 M EXEE G2 24,500 24,500 0
OJ8/AEs s Ustss2 NE
24,500, 000& 24,500
Al HI 24,500
M8 /AEOsS & NEEEZ XA 90,000 90,000 0
Al HI 90,000
301 LEtE M= 90,000 90,000 0
Al H] 90,000
01 MBI EEE G2 90,000 90,000 0
OJ8/Es s NEFEHZ XA
90,000, 000& 90,000
Al HI 90,000
BSEZ0s ANExY XA 136,800 136,800 0




SM: =2XNEHY
=RV (-

e OISES (&2 &H)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 109,440
AlHI 27,360
301 LEAZ 136,800 136,800 0
= 109,440
AlHI 27,360
01 MEI2EZE+05l= 136,800 136,800 0
OEs&z0ts IHE=Y X& 136,800,000& 136,800
= 109,440
Al 27,360
LAOISIHFXN (L2ots =02 XH) 108,000 111,300 A 3,300
2 75,600
Al 32,400
301 LerEAF 108,000 111,300 A 3,300
= 75,600
Al 32,400
01 AR 2Z A5l 3 108,000 111,300 A 3,300
OYYOISHENH (LYOS S+ X)
108,000, 000 108,000
= 75,600
Al 32,400
UAOISIHEXN A (LE=I|12t LRRE=2 X&) 2,100 2,100 0
= 1,470
Al 630
301 LEE2A S 2,100 2,100 0
= 1,470
Al 630
01 MEIBEE 2063 2,100 2,100 0
OYSOISIHEXN B (LI HAI2 TN ES
X&) 2,100,000& 2,100
= 1,470
Al 630
LAOISIHEXNE (L LHIE XJ) 2,700 8,100 5,400
= 1,890
AlHI 810
301 LEPEAZ 2,700 8,100 5,400
= 1,890
AlHI 810
01 MEIBZE 2053 2,700 8,100 25,400
OYYOISIH=N S (LAHES X&)
2,700,000& 2,700
= 1,890
Al 810
dL=ol=s XA 1,000 4,000 A 3,000
AlHI 1,000
301 LBEXZ 1,000 4,000 A 3,000
AlHI 1,000




SH =SNEMY
HE: OlS=X B4
@2 OIsE s EEREED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 MI2EZE+06l= 1,000 4,000 A 3,000
Oge=dta XA 1,000,000& 1,000
Al Hl 1,000
A2 - IIESE Otls delXlzd X& 3,000 3,000 0
= 2,100
Al HI 900
301 LA S 3,000 3,000 0
= 2,100
Al HI 900
01 MEIBEE 263 3,000 3,000 0
Ooge - JIERE Ots delXlzdl X3
3,000,000& 3,000
= 2,100
Al HI 900
ots2e XA (CIGMNALEHE) X 216,411 216,411 0
= 151,488
AlHI 64,923
301 LPEXSF 216,411 216,411 0
= 151,488
AlHI 64,923
01 MEIBEE 063 216,411 216,411 0
Ootsgg XEAHAZ(CISHASE) N
216,411,000& 216,411
= 151,488
AlHI 64,923
Ots=2XALY 24 2,295 2,550 A 255
201 L2l 2,295 2,550 A 255
01 At 22l 2,295 2,550 A 255
O0ts - 342d BE2=8 =S 2,295,000 2,295
AU ¥ ES 1,339,140 1,066, 186 272,954
= 493,723
J| 7,000
Al HI 362,016
I 476,401
FAadE EXNEA 1,339,140 1,066, 186 272,954
= 493,723
J| 7,000
Al HI 362,016
I 476,401
AtGH 248 23542 &§ 293 193,245 197,928 A 4,683
307 21201 A 193,245 182,928 10,317
05 RIZt2IE = 193,245 182,928 10,317
OSAX 1Al XI& 147,189
=& 2,974,900 x12 35,699




2N
X ZH -
L= B

el

=X & D
HAUXE L 25

EPNERE D E=F

= - - SHE]|
SN FHE - B(BA) - MRAY - BHES e

tH el 2,871,500 x12 34,458
g & 2,540,800& %12 30,490
Mg 15,600, 000& 15,600
g X3 10,877,000& 10,877
MIEEZ 20,065,000 20,065
O2%tl X 28,056
+=EH € =2 10,601,000& 10,601
323 13,600, 000& 13,600
- HAS= 3,855,000& 3,855
OA& &l Xl 13,900, 000& 13,900
O X =1 4,100,000& 4,100

a4 guts oztdol 249 160,702 160,702
= 80,351
AlHI 80,351

307 gl2tol & 160,702 160,702
=2 80,351
Al 80,351

05 BIZHRI & 3 160,702 160,702
OFAE git= 03t0 0l 160,702,000& 160,702
= 80,351
AlHI 80,351

FAESE0Y 29 20,500 20,500
= 8,200
AlHI 6,150
-l 6,150

201 L2l 300 300
= 120
AlHI 90
L Hl 90

01 At 22l 300 300
OEAENESE0tE 300,000 300
= 120
AlHI 90
24| 90

307 21201 A 20,200 20,200
= 8,080
Al 6,060
Tl 6,060

11 AMISIAIEE X 20,200 20,200
OF=EAA= N0 R3] 3=, 20,200,000& 20,200
= 8,080
Al HI 6,060
I 6,060

HdAadEs0te K& 23,870 23,870
= 9,550




2N
X ZH -
L= B

el

=X & D
HAUXE L 25

EPNERE D E=F

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 7,160
L Hl 7,160
307 glz2tol & 23,870 23,870 0
= 9,550
AlHI 7,160
T Hl 7,160
11T MIEXASEX 23,870 23,870 0
OyadEs0tel XA 23,870,000& 23,870
= 9,550
Al 7,160
T Hl 7,160
HAEX S A B XX 22,320 22,320 0
= 11,160
Al 11,160
307 21201 A 22,320 22,320 0
= 11,160
Al 11,160
05 RIZt2IEt = 22,320 22,320 0
OFALE XA BIEXI X2 22,320,000 22,320
= 11,160
AlHI 11,160
HeZ3AYE BHAMEEZ N & 111,980 111,980 0
= 55,990
AlHI 27,995
T Hl 27,995
301 LEHZ 111,980 111,980 0
= 55,990
AlHI 27,995
- Hl 27,995
01 MI2ZE 6= 111,980 111,980 0
OW&EEAY BAAMES N
111,980, 000& 111,980
= 55,990
AlHI 27,995
T Hl 27,995
AU 2Y K& 2,800 2,800 0
= 1,400
- Hl 1,400
307 gl2tol & 2,800 2,800 0
= 1,400
T Hl 1,400
05 BIZHRI & 3 2,800 2,800 0
OFAHENWAAAS 29 XA 2,800,000& 2,800
= 1,400
I 1,400
NTH HAEGHMAE HdEALSY 100,000 0 100,000
= 50,000
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SA: S

Hu: HAUNY U 25

=

ool AW =2XEX

SN FHE - B(BA) - MRAY - BHES il 2
Al'H] 25,000
I 25,000
201 LBH2E| 91,000 91,000
=2 45,500
AlHI 22,750
T Hl 22,750
01 Al 22! H| 88,000 88,000
OXTH BALGHYE HUIAKS
22,400,000 22,400
= 11,200
AlHI 5,600
I 5,600
OXNXH HArEtMUY 2AHEMA 2
20,000, 000& 20,000
= 10,000
AlHI 5,000
2l 5,000
ONTA BAHHYE RO g
18,000, 000& 18,000
= 9,000
Al t] 4,500
2 HI 4,500
OXXH EaEtMUE 24l 17,600,000 17,600
= 8,800
Al 4,400
- Hl 4,400
OXXH HBAEtMAE Qatae d2ed X
2 10,000, 000& 10,000
= 5,000
AlHI 2,500
T4l 2,500
03 A2 Z Hl 3,000 3,000
O=tl % 243 HSEEZAME 3,000,000& 3,000
= 1,500
Al HI 750
I 750
203 Y2 E X Y| 2,400 2,400
= 1,200
AlHI 600
I 600
03 Al 2 =xIQl 2,400 2,400
OXXH HAadet g2 =4l
2,400,000& 2,400
= 1,200
AlHl 600
2 HI 600
301 LPEXS 6,600 6,600
= 3,300
AlHI 1,650
- Hl 1,650




2N
X ZH -
L= B

el

=X & D
HAUXE L 25

EPNERE D E=F

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
12JEEd= 6,600 0 6,600
OFAEHHAEY DI HAYE At 2elsg
6,600,000& 6,600
= 3,300
AlHI 1,650
L Hl 1,650
Fad SEXE A 10,000 9,000 1,000
J| 7,000
AlHI 3,000
301 LEdZ 9,800 8,760 1,040
J| 7,000
AlHI 2,800
01 MEI2EZE+06l= 9,800 8,760 1,040
O&FAY EEIH 9,800,000& 9,800
J| 7,000
Al 2,800
307 21201 A 200 240 A 40
Al 200
11T MISAASEX 200 240 A 40
OFAY SEXE Ad2eld(BAHaEEX
HE) 200,000& 200
Al 200
FadEerdd NI AYE AFFFEZZ Y 50,000 0 50,000
= 25,000
AlHI 12,500
I 12,500
307 21201 A 50,000 0 50,000
= 25,000
AlHI 12,500
4l 12,500
05 RIZt2IE = 50,000 0 50,000
OFagetdd NIIEAYE IFFELZ I
50,000,000& 50,000
= 25,000
Al 12,500
I 12,500
Hadody 2H(HAHAE=SRMEH) 96,800 94,700 2,100
= 48,400
AlHI 24,200
I 24,200
307 glz2+ol & 96,800 94,700 2,100
= 48,400
AlHI 24,200
4l 24,200
05 RIZt2IE = 96,800 94,700 2,100
OAHNY 2 (FLELESXHEH) 96,800
CIHHI(EE, 1Y) 80,340,000 80,340
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2N
X ZH -
L= B

el

=X & D
HAUXE L 25

EPNERE D E=F

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 70,170
AlHI 20,085
Tl 20,085
2 (RsAHAHl) 1,800,000& 1,800
= 900
Al 450
2 HI 450
AP HI(RIDIHAEHSEXE S)
14,660,000& 14,660
= 7,330
Al 3,665
Tl 3,665
HAHOHAMG XSAMSAIL(HAHMESIHE) 154,680 141,512 13,168
Al t] 77.340
2 HI 77,340
307 21201 A 154,680 141,512 13,168
AlHI 77,340
I 77,340
05 RIZt2IEt = 154,680 141,512 13,168
OFEAErE Y X2 AEHAY 154,680
OIZIHI(ME{ R, SR2%) 132,064,000 132,064
AlHI 66,032
I 66,032
A (A Y, WEAS) 4,600,000 4,600
AlHI 2,300
T Hl 2,300
2dbl(s322, g, =&H 3)
18,016,000& 18,016
AlHI 9,008
T Hl 9,008
HAUSET AY(HAHML=TME) 167,420 128,269 39,151
= 76,300
Al t] 45,560
- Hl 45,560
307 21201 A 167,420 128,269 39,151
= 76,300
Al 45,560
- Hl 45,560
05 BIZHRI & 3 167,420 128,269 39, 151
OFAESER ALY 152,600
2 =Hl, Atcll&l eyl 146,444,000& 146,444
= 73,222
AlHI 36,611
-4l 36,611
A 2 Z I 6,156,000 6,156
= 3,078
AlHI 1,539
I 1,539
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P ESANE AL

CHB G (BN) - HRAMY - BES il HlnE2
OF=EN=E= 2 AlGIXI&)
14,820,000& 14,820
AlHI 7,410
-4l 7,410
L2EOEMY HA 59,320 59,320
= 29,660
AlHI 14,830
-4l 14,830
101 @14 Hl 58,224 58,224
= 29,112
AlHI 14,556
-4l 14,556
04 JIZHHZ22XREES 58,224 58,224
O A EAtell 22l At 54,264
JlEs 47,080,000& 47,080
= 23,540
AlHI 11,770
T Hl 11,770
MIEE S 5,984,000& 5,984
= 2,992
Al HI 1,496
I 1,496
SANEQE 600,000 600
= 300
AlHI 150
T Hl 150
g 600,000& 600
= 300
Al HI 150
I 150
OF LG Atell 2t el At Abddl &l 2| 3,960,000 3,960
= 1,980
AlHI 990
T Hl 990
201 £B-2dH| 1,096 1,096
= 548
AlH 274
-4l 274
01 At 22/l 1,096 1,096
OFAG At Zel A A J0 st Zz
u]l 1,096,000 1,096
= 548
AlHI 274
T Hl 274
st 8 a4 XA dIH) 127,494 4,664
= 87,356
Al 18,719
-4l 21,419
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SM: =2XNEHY
MY HAUNY U 25

=

ol HAd =2XEX CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 127,494 122,830 4,664
= 87,356
Al HI 18,719
T 21,419
05 QIZ2tRE 2 127,494 122,830 4,664
Ostn g 344 X 124,794
S OIAHH (A4S R3H) 84,944,000 84,944
= 59,460
Al HI 12,742
T 12,742
- AFE HI 24,960,000 24,960
= 17,472
Al Hl 3,744
24| 3,744
- 29| 14,890,000 14,890
= 10,424
Al HI 2,233
T 2,233
Ostn g 3449 X|MH 22249H N
2,700,000& 2,700
st 8 HAadE gAldH XA 23,585 0 23,585
= 10,356
Al HI 8,051
Tyl 5,178
307 2I2t0| A 23,585 0 23,585
= 10,356
Al HI 8,051
.l 5,178
05 QIZ2tREF 2 23,585 0 23,585
Ostm g dA4dE gAH XA 20,712,000 20,712
= 10,356
Al HI 5,178
24| 5,178
Ot % HAW SAH KR (AUIFIH)
2,873,000 2,873
Al Hl 2,873
Had B5 14,424 12,955 1,469
201 LBt Y| 11,853 9,853 2,000
01 AP 22| d| 10,523 9,853 670
O&d4E 80l =o€ M H & 9003 *3,500H *90% 2,835
OoRYdALAHE & EEE M 20 x14,300 286
OFAGEEHALKS AL A= HZ
20 10,000 200
OFads &3 5,400,000& 5,400
OFAEXNERSE /AsH HE 10,000& x50H 500
OFAMEINERE /A¥SE H & 10,000 x50H 500
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SM: =2XNEHY
MY HAUNY U 25

ol HAd =2XEX CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
Ol&EZ2 0CRL XAl X =+ 59,000 59
OFa~4d EEY=EE S 743 ,000& 743
02 E2=2=2%H| 1,330 0 1,330
OHdUES0| SolgA &8s *ERZ2 S
380& *3,5000H 1,330
203 &R F & 891 990 A 99
03 AIZH =X 2= X H| 891 990 A 99
OFAHE gL2=x& 450,000 *90% 405
OFAED|Z AL 2HE 3 540,000 *90% 486
301 et M= 1,680 1,680 0]
12 JIEtE A& =2 1,680 1,680 0
OFAYE KollgdA Aol B4 100,000 x43] 400
OZ4W NS RHYL BSHS 34
8,000 x160Y » 1L 1,280
HEHSAALH (EXNEH ) 556,097 505,252 50,845
2 255,270
Al H] 66,580
T 234,247
ol 2 A | 471,524 403,831 67,693
2 255,270
Al H] 66,580
T 149,674
S At &2l A el X 191,837 187,639 4,198
2 82,002
Al H] 41,001
I 68,834
101 Q124 H| 191,837 187,639 4,198
2 82,002
Al H] 41,001
T 68,834
03 RIHLZZXHE = 172,940 187,639 A 14,699
OSE A 22 A QIHHIS 172,940
23 AM2dAdxE, E8dE= S
29,556,400 x5 147,782
= 73,891
Al Hl 36,946
24| 36,945
- =2 S M 25,158
- @A SOHY| 1,608, 756& «5H 8,044
-dAMHB 833,468 x5H 4,168
- gAY 1,378,000& «5H 6,890
- s G 284,000 x5H 1,420
-SRI IIEE 927,040& x5 4,636
04 JIZtHI22XNSE S 18,897 0 18,897
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SH =SNEMY
HE: HN2IFH(SNEHD)
Sel: o2y (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OSE A Z2IAFOII2EM) A8l S 18,897
Jlgs Ade+=", 20l s
16,220,400 »1H 16,221
= 8,111
Al HI 4,055
I 4,055
Sc| =4yl 2,676
- ZUgAlY| 910,000& x1H 910
-YEFIHL,EXNEE AlRa+Y
1,765,050 *1H 1,766
OtsS S Atell &2l A el XI& 159,872 181,009 A21,137
= 101,376
AlHI 12,672
I 45,824
101 @14 dl 159,872 181,009 A21,137
= 101,376
AlHI 12,672
-l 45,824
03 RIAHAZZ2E = 159,872 181,009 A21,137
OO0ts S E At 22l A 1 24 H| 159,872
123, AelLY, HANYS S
33,480,000& »4H 133,920
= 101,376
Al 12,672
-4l 19,872
- Sl = 4| 25,952
- @E SOt 1,886, 170& x4H 7,545
-HANHS 1,145,740& »4H 4,583
- HHgAY| 130,000% » 128 x4H 6,240
-tEsg 60,0003 x12& x4 H 2,880
-HRSFIISE 98,0003 x 12 x4 H 4,704
OFS S X WAHXI G AISI S XIAF) o124d] XI& 15,390 35,183 A 19,793
2 4,480
Al HI 4,480
-l 6,430
101 1A dl 15,390 35,183 A 19,793
2 4,480
AlHI 4,480
I 6,430
03 RIAHAAZ 2R 15,390 35,183 219,793
OOtS =S X WAHXI L ALSI S XA Q124H] 15,390
JlEs, EAREg3E S 2,790,000& x4 & 11,160
2 4,480
Al HI 4,480
I 2,200
Sc|= 4| 4,230
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SN =NEH
B AR (SNEHDY)
chel: ol gyl CEEEED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
- 3E SO 943,090& * 13l 944
-HBANHS 1,145,740 <1 1,146
- MG A 130,000 42 520
- EsE 60,000& x4 & 240
- Ol 100,000 =42 400
-HReSRIIFE 98,0003 =10 980
Ot=2sdEed oAbl XA 104,425 0 104,425
= 67,412
Al 8,427
4l 28,586
101 @124l 104,425 0 104,425
= 67,412
Al 8,427
I 28,586
02 JIEtA 2 == 67,355 0 67,355
O OtsSEsdEY ANLAEHMYINIM (9= 4 )2 67,355
Z2a, A2e 28+, 288 §
51,827,000& 51,827
= 44,941
Al 5,618
4l 1,268
s 60,000 1200 & »2H 1,440
g EXxH 145,000 = 1201 & «2H 3,480
A Z A 140,000 * 1201 & «2H 3,360
Here sl 50,000& x12JH & ~2H 1,200
HOFE &Y 6,010& *77Al 2tx2H 926
Ex=XN2xE 73,3903 x 1204 & +2H 1,762
- SO 140,000 » 1204 & «2H 3,360
03 RIAHA2 2R E > 37,070 0 37,070
O OtsEsdgedy oAl s 37,070
N2E, ARe4ag, HANYS S
30,994 ,500& 30,995
= 22,471
Al 2,809
T Hl 5,715
- S E SO 2,237,850 «80% 1,791
0= 845,310& 846
SRS | 130,000& 1204 2 1,560
IE=g 40,0003 x120 & 480
CHEXRERIIeE 116,4282 1201 & 1,398
Jl=& | 84,573 101,421 A 16,848
JlE&l 84,573 101,421 A 16,848
201 L Er2 A | 16,941 16,941 0
01 Ab2 22l bl 16,941 16,941 0
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SH =XEHY
B AR (SNEHDY)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ORANEE+=EH| 8,352,000 8,352
OJls2gdes+8 2| 7,949,000 7,949
Ofx4 29| 640,000& 640
202 04| 61,152 77,280 N 16,128
01 2LHOHI 61,152 77,280 N 16,128
OJleg3#u | 87,360,000& *70% 61,152
203 PR =&lY| 6,480 7,200 NT20
01 J|22H L R=AH| 2,700 3,000 A 300
OJ|22H YR =&Y 3,000,000& *90% 2,700
04 ENSHLR=AH| 3,780 4,200 N 420
FA2IIRFEY| 4,200,000& *90% 3,780
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